10260 , SOLUTION , DSSSB (Nursery teacher's)

Ques 1. ANS (D) Solution:

T $HdP, AMd IRR H TR S a1dT U UHR BT Aol
T g1 TN SHdd HTHd IRR B U ST BT gIR 3T Y
SIS &1 o1 HRAT 8| T8 Udd 3T H U STl ¢ | T8 SHddh!
F1 TS AR THE B | Il Sadh o1 Al Hif Waier &<,
3T DI I HIAT AUT I8 Tt W W I/ |1 FaToit
SHdP Ps UHR & BId 8, OI9- MAHIRN S, THT S,
T Srelop, 3R Sl TABIH Freep 3N B B

Ques 2. ANS (B) Solution:

goid Rig 980 Ud YR fhdrer 3R Id Travel faemel 1
T AP TR TR Y A0F X5 § 7R A1 2013 & fay gar
YR AR § YR o7 gl f fear g1 I8d 120
Sfag™ H 6 fadhe A9 aTal el AfSw & 1g giHaT & gav
TS} 3R Ugd HRdIg 5 Sein20-20 fhpe H U AT H 6
fape o 21

Ques 3. ANS (C) Solution:

Ua% eeTR Rotd, o oras erevR g ot g s unl a8
SBUMES US & BT foTal 7 fRUd g1 39 ers'R Roid 3
BT e TSR TR’ & fAT e tRd TS & TREur
T 9o § URd 99 fAfderar REBR 2016 St AT

Ques 4. ANS (A) Solution:

HRA & Jd fbdbex 3R B Iy Wiv &1 He & marl S8
MG DI T Io=H 1} T AT RIS &7 54 219dR
1938 1 T[ORTd H g3 AT

Ques 5. ANS (A) Solution:

TS HIvon U= gR1 Rien & &7 & g3 wld ot aeiten 8 1882
DR - &g S&Y GUCR B! L&A H SR AR BT T3
foraT| 59 3mNT H o138 Yaw YRAW | 3 SN & Sfid
Ui Ud Treafiies fRrem ot Teiten ot Wit ot 32t sma Bt
R & 3MyR WR 1882 H USe fayfaemera ud 1887 #
ZATRISIG fAYfITerd o1 RITUAT &1 Tt

Ques 6. ANS (A) Solution:

Uy SgHIRIG Y S B 1 Uy sird # Ui WfiF, sgaikiera
UHTI-TIAS IATEH ofid FRferd gid g1 Us-ad o ureft o
ITch HIRIHT B UG HIRIHT HEd § | UG HIRIwHT B g
TR & HIR1pT AT BT S B, S Al B a1 gt B
Ques 7. ANS (B) Solution:

TeTaRt et B T el TR g1 Maras) e HerTy
IRy ord & U TahaR I Apad! g 3R §7d oF wrst o
3T ot FRT St B 1 Meradt =1t o v URd &7 ged
14 43 81 3 <fa Bt T ot et e 81 Maradt A B
T Al § - UaRT, o, Hew, aaf, 3w, o,
SaIaa, AR 3R e |

Ques 8. ANS (A) Solution:

YRATT T 3H 1 W1 uTet S F e el 81 AuTed
B! AT B W HRA T URAT I - ITRRGS, ITR YT,
fagR, ufyy ser ok Rifass 81 WRT-uTd & |1y 1751
e det diar TmEn eRar gl

Ques 9. ANS (B) Solution:

W 3Hegd TRHR Bl IR - Ui JAid Uid & g™ 1 31
W g TRHR Tl B! Wid el & 19 J SIH1 S o7
T geTs FEeHaR’ 4R & Yddh) TS $I R &1 2|
T AT & W9-Hadh A1d Hell Ug-d 3, SHIer 30 a1

Fif STaIer =T & T A1 Foll &dt A THBR Gl & gl
T-SHITH DI U | 38 WA’ 1D Teb UfAeh] U=l
HTST H eprell, S a1 # a1 S A d THIRI g5 |

Ques 10. ANS (A) Solution:

P TR W Hifd B 11dY daasia dre & s 12
R 2008 T = @t Tl o1 39 i) 1 IR W At
3R faRy wu § Ao 9fkgal & T6 9Tl 9UT 3 HHSR I
P T & oY SR TR JaTd IuAS] BT & | 3T 1o B
et W Aot & ity TganT I Ioma ST 8|

Ques 11. ANS (D) Solution:

T AR B 3T SR’ TTHS IUAR b TGP b I 2
T IRE B 3T HTHR BIeT B I & S 3R I7H Jost
TR TR § | BIeT I YRIed &b Tl IHes o ot At 5t
TIER 997 9 Yafdd HRHR & e A

Rakesh Kaul is the author of the novel ‘'The Last Queen of
Kashmir'. The Last Queen of Kashmir is based on the life and
struggles of the Rani of Kota. Kota Rani was the daughter of
Ramchandra, commander of Suhadev who was the king of
Kashmir belonging to the Lohar dynasty.

Ques 12. ANS (C) Solution:

FLTHR Adl A AR TS T URIG G o1 a1 At
HeTHR Adl Hd TAUTTINRT’ G T AU ! UTd a= BT
SifeH =M ST T B

Sandhyakar Nandi wrote a famous book named
'‘Rampalcharit’. In the book ‘Rampalcharita’ written by
Sandhyakar Nandi, Rampal has been described as the last
ruler of the Pala dynasty.

Ques 13. ANS (D) Solution:

HAHR ] 7 AAUTIRT ATHS Th YIS G 1 391 2|
HeHR Adl Hd TAUTTIRT’ J&dd T AU 1 UTd a7 BT
Sife =M SarT T

Sandhyakar Nandi wrote a famous book named
'‘Rampalcharit’. In the book ‘Rampalcharita’ written by
Sandhyakar Nandi, Rampal has been described as the last
ruler of the Pala dynasty.

Ques 14. ANS (B) Solution:

EH1 e Aorgd Aol gRT fafed T g g1 - Wb
NS Yegh Y gRT AR Y IS A & GRaR H e
T 7| — BRI A1 WIHTSg &1 ST areforgs & g7 8k
3T T & SR ‘ST foran| a8 yRd sfagry oA &1
Tgayuf 9d g

Indica is a book written by the Greek ambassador

Megasthenes. -~ Megasthenes was sent to the court of

Chandragupta Maurya by the Greek ruler Seleucus. -

Megasthenes stayed in Pataliputra, the capital of the Maurya
Empire and wrote 'Indica’ during his stay. This is an important
source to know Indian history.

Ques 15. ANS (B) Solution:

e 2021 #, HReTa fag VR (15c) SR HReia siafed
SR TS (ISRO) P RIS DI Th T A THT JUBRT




famRyd fovan S ot @1 siafver & Sfae v oA & 9am
S THT B
In September 2021, a team of researchers from the Indian
Institute of Science (IISc) and the Indian Space Research
Organization (ISRO) developed a device that could enable
scientists to conduct biological experiments in space.
Ques 16. ANS (D) Solution:
3 T Faw:- IR Sl T S & SIAR-TTe fpdt
TP B HIfIh SHTRIT (@RS, AT d &18) SfuRafid g, @
IYb RRY & o BT faHTR I a8 dTelt YR &
SIIHHTIYT BT § 1 31UATV i V = Ri STGT R T fdiss ©
R =Teie 1 3y ufeRIy” Hga g
Ohm's Law: - According to scientist "George Simon Ohm", if
the physical state of a conductor (length, temperature and
pressure) remains unchanged, then the potential difference
between its ends is directly proportional to the current
flowing init. Or V ai V = Ri where R is a constant which is
called “electrical resistance” of the conductor.
Ques 17. ANS (C) Solution:
TR 37t (muriatic acid) BT GRS T W B
TRufes TS gegiaiNg URTS, HalRe U Hulgd TS &
I 7 ¥ U 3| TgRufe s 7 o § e a1 He J Wefda |
33 ey 3ifs iee a1 ThreH wiferd & A1 9§ off ST STrar
gl
The chemical formula of muriatic acid is Pt. Muriatic acid is
one of the names of hydrochloric acid, a strong acid that is
corrosive. Muriatic means “of or relating to salt”. It is also
known as Spirits of Salt or Acidum Salis.
Ques 18. ANS (D) Solution:
YR W3 gRI Fare aaay R 3 =aarad &
SIBRI BT & P & ford g, FIE quT S1esr St 3 B
IBR g1 Tared ArTerd (e 32 & dgd) Ud S e
(3T 226 & dgd) e IR IR ¥ & |
According to the Indian Constitution, the Supreme Court and
the High Court have the right to issue articles, instructions
and orders to protect the rights. The Supreme Court (under
Article 32) and the High Court (under Article 226) can issue
writs.
Ques 19. ANS (B) Solution:
33y srmaret feaw (WD) T fayeadt aifiies SrichH & St 16
30T BT BIAT § Sl SMTATSl BT g1 & 344 Pl THNA § | SHDT
Iz gt Al & e Sitae # 3imarel & 3rafie Hed
URId AT 8| 3MTaTel THTdT 3R WY FIR &1 U Agaygut
Ugd 8, 3R fay siarst fieaw simarst &t qrwnaf & A,
fqaferd a1 dWR siarT & gAal, HardH® A & uiRifea
FHXA 3R 3M1aTS! & BT SR SIHRINT TR MY FHoxA B
AR P Ul 4 SRS ATl 3 |
Ques 20. ANS (B) Solution:
Ques 21. ANS (D) Solution:
Ans. (D) : 91 T 32 F faufiq wew faeaq 2-

T TheTeh

3——————————5

Toradia weteh

6——mM———»1

I T £ o I &1 WERl W Aed J ddd A 9
TRl ST TRl &1 3T fashed (d) 991 51

Ques 22. ANS (B) Solution:

Ans. (b) :

fo sar, 41 1,
P—5Q A—5[B
R—5Q B—'5| A
0——P g1 7T
T—258 0—| N
E—Lor NV
C——B U—5| T
T—15U T— |y
I——H E—|D
0—5P L— | M
N—boM Y —s| X

Ques 23. ANS (B) Solution:

Ans. (b) :T’THERZH'( EB'FI " -
tﬂa ZIT@EFG{T%'TT i%t?\q——r

Ha: Ik & 9 AR 92T 9371 81

Ques 24. ANS (A) Solution:
Ans. (a) : 3¥AHHR,

Al C
Fd: E & 98 IR a9 H W B 9371 &1
Ques 25. ANS (D) Solution:
Ans. (d) : TFFcT FFM (d) gigen § sga=+ &= (7)) &
T 9 AT
wifts fae ‘& afwied fren § muwe ‘900 9w w1 @
g foe | ) @med f@En H ‘90’ 9w W €
Td TOE IS FH T G (W) OF-UE ©H A6 a0
EEA A
Ques 26. ANS (A) Solution:
Ans. (a) : IFT 51 1 Fel WA =x

4
Xx— =48
5

x =60
T HHT Fcl ST &1 Wl =y

=80

ag'l?m FI el A = 80-60
=20
Ques 27. ANS (C) Solution:




An&(c):ﬁ'm%— a=xb=+,c=—d=+
THFAUT ‘55a5b5c5d3° § o=l 1 Jfaeenfid i W= -
=55x5+5_5+3

=55%x1-5+3
=55-5+3
=53

Ques 28. ANS (B) Solution:

Uy B @ TS Sl IR Sl e (b) F siafiRa 21 ofa:

ferped (b) T &1

The figure given in the question is embedded in answer
figure option (b). Hence option (b) is correct.

Ques 29. ANS (C) Solution:

Ans. (c) : BT T 99 F T2 99 G

=ffm Fierd

30 e (o) Tl &

Ques 30. ANS (D) Solution:

Ans. (d) : 31 7E IR 2Fgel FEad 8-
F—sC—=>I—=5L
J—sG—>5M—=5P
N—2a3 Ky Qs T
R—30—=3U—3X

s

Ques 31. ANS (D) Solution:

Ans. (d) : 99 T &7 T 907 fread -

24 27 33 42 54 9

I e I s

+3 46 49 +12 +I5

I O O

+3 +3 43 43
B
Ques 32. ANS (B) Solution:
Ans. (b) : T a9 30 HEET &
JAY e

Tﬁm "laa

Oﬂ;"_

% 9 Wy g & w9, afEd @ U )
Ques 33. ANS (D) Solu'_(ion:
Ans. (d) : 2 9MH H-

is —)A jo
@ crickcl_:b@ mo&

@ globe —> @ nok

Fd: WY fh cricket &1 % 9NN H 'mo' feivdl ST
Ques 34. ANS (C) Solution:

Ans. (¢) : 1,5 FE 10 & foash 994 @i 9 )
SYER,
Ix +5x+ 10x=640
16x = 640
x=40
= & Eju?‘lﬂ@] =x+x+x
=3x=3 x40 =120

Ques 35. ANS (D) Solution:
Amns. (d) :
P

ADHWARIO OLAAWHAA

Q
ADHWARIO &% =19 PQ 401 W Wad W Hel dfda &
9 ¥ 3 oo (d) 91 8F)

Ques 36. ANS (A) Solution:
Ans. (a) : 59 FFR -
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T ASTONISH Feqm = '"'YGFKLQGR' forar
S|
Ques 37. ANS (C) Solution:
Ams. () : 59 =R,

23 %2+ 49=295

el

05 =95
17 =2+ 28=062
2 =62
I YFR,
?x24+44="74
?7x2=30
7=15
Ques 38. ANS (D) Solution:
Ans, (d) :
28HH 1
A 3T 998

SHIEH 6
faU T UM & 9AF Gd 9 [O9d dd8 9 9 8 &
&hae THI A R C I/ o 9l &l
Note: - &4 < [a0did T U= 911 Tl 4 2|

Ques 39. ANS (B) Solution:
Ans. (b) : FUAGIR dd GG 4 W —

R - 1- (V)

10 - (*)
AT T W 2 5 Fad 8 L U 1 9 S 8
Ques 40. ANS (A) Solution:




Ans. (2) : A=+ a:b=45:56
B=- b:c=16:35
=T a a b
—=x .‘.a:c:—zgx—
12+(81B18) x9B34 A 12 % 6 ¢ ¢
i | el ) Ay e W - 45 16
=12x%(81-18)+9-34+12+6 56 35
=12%x63+9-34+2 18 18- 49
=12 _ 2 =—=18:
—lg: ?3414:_ i 49
- s . - Ques 45. ANS () Solution:
Ques 41. ANS (D) Solution: Il W 7T = A:B: C
AT hed | Tgeh1 H1 HEAT = 3x =2:3:5
T /oAl i Hem = 2x fafem o #1399 = 4:5:6
FT SHET H HEA = 5x A1 G T S = U e < Rl
mqmmﬁmﬁﬂﬁw=3xx8—%=¥ =2%x4:3%x5:5%6
D
_ _ ) 75 3x =8:15:30
OER A U del ARl Sl T = 2ZX 0= Ques 46. ANS (A) Solution:
1
EH@HHWWEI&M:‘Z_X+3::319O" Aﬂlﬁqmm_gﬂm
J 2
39x B | fod a1 = A
oEaf 9 T aet oEt & seE = 10 %100 8
X 1 1
A TITB & FHI/ 2RI FT ST =~
319—0x><_’i 100 = 78% 58
x ! - — .
Ques 42. ANS (D) Solution: A:B=8:5
fama qea= %9 o4 « (100 + ora/8f) 7 A F R = 0008 =520 x 8 = 4. 160
100
(100 +16.5) Ques 47. ANS (B) Solution:
466 =77 —_—
K 100 ST
(iﬂﬁ’l) B(iﬁT'ﬁ)
466x100
ohd He S 2
" s /:,
H T = 400 %
BT = 400 — 330 = 70 , \1
7 10 18
o= 04’;1}00:17.5% '8
1
Ques 43. ANS (B) Solution: e ST ‘ﬁﬁ =9:3
3 ged = '80 Ques 48. ANS (B) Solution:
forsha qo9 = 68 Wﬁqxﬁlgﬂmﬂﬁ#mw:mﬁé
= ”"1'_ “H”H"xl(}ﬂ .'.{Umﬂﬁ#ww:loxiﬂsw
et 1. 2
80— 68 T Y A LA e e = 5
= x100 6 :
<. QWG # A G = 5 % 6= 30 62
12 AT WY X AR Y B UF A 1 5 H T HT R A
=—x]100=15%
Ques 44. ANS (B) Solution: 30 15 30 30 10 .
. QI A 9 F A = 10 e
Ques 49. ANS (A) Solution:




#6600 F T W x B Al
TEY A1 =" (6600 - x)

—
xx 210 6600-x)x 22
100 100
5x = 39600~ 6x
11x = 39600

T A, x =" 3600

AU 41, 6600-3600 =" 3000
Ques 50. ANS (A) Solution:

7oA (P) =" 5000
T () = 2
A (r) = 9%

wehdf€ SR = o (1+ETW

100
9 2
=5000{ 1+ —
100

= 5000x 102 199

100" 100
_2x109x109 50405~ * 5040

Ques 51. ANS (D) Solution:

7 X § Y #1 iee g e 3x T 4x

=% 3
99 W TS # Ag W SgEa =5 7

3-5 5

4x-5 7

21x=-35=20x-25

21x-20x=-25+35

x=10

Y St afEm g =4x=4x10=40 7%

Ques 52. ANS (B) Solution:
- SUH n FERfE Smnel @ sitew = “T”

50+1
2

- ¥a® 50 Wt Semei o siten = =255

Ques 53. ANS (D) Solution:

=1 29wt e V ke #
g = it % frem F wm @ R
=9 o % fraw w0 Zf = ue x weE R

(a2t & Por) gt =(V-9)x oo
g 84
(Zat =i % o) ff =(V-12) 3500

g T gl sttt w o w F et mé g wm
it

- T S - i _ 34
S VX e TV 1D X s
8V -T72=84V-1008
1008 -72=04V
28.8=04V
v=28 _1im/h
4
Ques 54. ANS (A) Solution:
¥ E,
T =338+
9T = 50 Savs
_ & _ 3334
T ®m s0=ETs
ol =6.76 F/=.

Ques 55. ANS (B) Solution:
i 9e ¥ 9| 3 7Y (a) =20 km/hr

tm&,ﬁmﬁnmm‘tnﬁ'm? i i

HE € # 9 b kmvhr @ 7,
FIAEER
T & fAsfin 7= o = = (a-b) km/hr
- 5=20-b
b=20-5
b=15
3T = o 9 =15 kmm/hr
Ques 56. ANS (C) Solution:
a+b+c
T s= 5
_T2+30+78
- 2
Bge o A = | f3(s-a)(s-b)(s-©)
=J90(90 —72)90-30)(90-78)
=490x18x60x12
=.f1166400 =1080

20 9] = 20
100

(& a=72,b=30, c=78)

=00m

A
3

. T e =1080x1§=' 216

Ques 57. ANS (A) Solution:




: farn 3,
Y9 U (a)=5

qai (d)=6

Tay =2

Tyn=a+(n-1)d
Ti=5+(23-1)6
Tnn=5+(22x%6)
T»3=5+132
T3 =137
Ques 58. ANS (B) Solution:
b SUAR P JI B dTcl AR BT HBIT = 50— (4 + 5 + 5
+4)=50-18 =32
Number of patients selecting one treatment = 50 — (4 + 5 +
5+4)=50-18 =32
Ques 59. ANS (C) Solution:
cosx +sinx =+/2 cosx
Sinx I ¥ A T,
cmx+l=Jmex
\Ecntx—cotx =1

cotx(ﬁ—l): 1

1
cotx =
J2-1
=7
Lo (2
cot = —
[ﬁ_l_](ﬁnj
cotx:h‘{z‘:l
cotx:«E+1

Ques 60. ANS (B) Solution:
1
= ;[xl (va—ys)+xa(ys -y ) +x5(y —v; )]

=%|ja{c+a—{a +b)}+b{a+b—[b+c)}+c{b+c—[c+ a)}:|
:%[a(c+a—a—b}+b(a+b—b—c)+c(b+c—c—a):|

= %[ac—ab+ab —be+be—ac]

:%XO =0

Ques 61. ANS (D) Solution:

STad T & Rad ®IF (1) F forg Faffres Juged Weg
fe=m g 31a: Yot are gN - e etk ve fgadt 3
fo=d) Fdy & ey SR fe=m a1 FefRor fasan |

Ques 62. ANS (C) Solution:

Iudad TR & Rad RIF (2) & forg gatfes Iuged wes
frefor v |1 3rat: o arers g1 - 3 HRIdR wETe fgadt A
fe=dl ey & W=y SR ez &1 FuRor fean

Ques 63. ANS (C) Solution:

o0 T aT ' g3 o) 9| gl gahar H @ifed WS Bl
IR S & o Ja9 Iugad fdded (3) BRI 3id: YS
IR BT - I 3fd Il g o

Ques 64. ANS (A) Solution:

0 T3 fypedl § § URGIfbe ad-t @1 = A g Tea g1 3
it 3 B

Ques 65. ANS (A) Solution:

30 T2 aToR qH T SO BIeT A1 YIS 9l | i 3R
DI Ui PR & Tl T ITgad fadhed (1) BRI 3fcT:
T J19 BT - GF ) 3(0HT BleT 1S I3

Ques 66. ANS (A) Solution:

e 72 are qefl TR et b 36T ¢ b el TR ATl Wi A
Hal Geelt 3RS 71 e agaeH Bl b R TR Tbae b
T TN UGS 1T | 37: Y a1 BN -8 R B B
R

Ques 67. ANS (C) Solution:

TS U g o T T B - SR Ford ardm = 71 81
- 3FTE faT Uete RTY - S et g R w8 -
3ffad

Ques 68. ANS (D) Solution:

&3 M a1 TRt Y 3ERT BT ST &' W difhd TS

"SHTTRT H1 e faam Wsa g i, Safds sidRr &1
foamT IS, SHUBR' BT UHIR TUT JHN' 6T R BT ]
Ques 69. ANS (C) Solution:

30 M0 a1 ‘w=, A - SO Bt i@ BT gy A Rad
RIM W ART Weg IUGdd 81| 37 Ul a1 G - &, i -
1Y B 3T BT RISl 21

Ques 70. ANS (C) Solution:

33 T8 wreal ® ¥ wfafAfdy g ac aren wee §1 s et
e 3rgs B

Ques 71. ANS (C) Solution: fGT T ¥sg- "H&" &1 faaid
BIT—"arena” | 3fd: U ¢ faseu & wsal &1 faam g B Tss
faei farRe — 3=, TogE, wia, el | e - e T

Ques 72. ANS (A) Solution: fT T faeed & Y& g+t aran
e “fawTe” B1 3rc: Y Weg A B

Ques 73. ANS (D) Solution: T 77T a1e & Ywifdd Ts &I
TR F=- & 1T qad IUgad Meg — Tl BT 1Y Ferdt
B 1" 31t quf aTe gRTI- " SHToidh el 3iRd g T o el &1 g1y
Ferdt g

Ques 74. ANS (C) Solution: T&T T a1 & J@Tfdhd WS &I
TR B3 & o Had Iugad Reg ‘RAes] Fa & "o
Y g3 1" 3d: Yol I gRT—"39 el T AT At gad &
I A gan gl

Ques 75. ANS (C) Solution: T&T 1T gTaRT Teg “FoRTT dal
3ART T 372 BT ST & TR T AT BT SATEROr g
HETART Had: 3Rl UTN BT Uec, 7 foraept 314 § sraeid s=an ar
IR &A1 37d: $© HETaRT 1 58— TR H gF SFFHT - 3RIa
o7 1t TRig BFT1 O B <1t T - H 39 | 3fgHT 3R
BT | SIET W BT — Shue Yuf SIagR &A1

Ques 76. ANS (C) Solution: f&U 7T a1e T - "IG 3UAT
RN TN R feam” 3fd: 39 ated § " URSd” Teg Tad
B 3/0: TUP WH W "JBd@” Veg T ¢ 3fa: guf are
BT S S7UHT TN THTIONT o faa|




Ques 77. ANS (D) Solution: %QWW‘#WW@%
1Y oreTS” Wea IUYEd B 3fd: YU AT NT- g et Tt
SIS el ot ot

Ques 78. ANS (C) Solution: 3T 7T sq 1l $& F Sl 81"
& foTT TR 1 Ueb Woq BRI 371" | 31cl: 34 fdeped o forg
AR BT T Ved 4 ¢ | FIF- S & Sl &1 - S 99
TRIUT, IUTSE YR BT FH 34T 81| FHF- S THHRT [ g
Ques 79. ANS (B) Solution: T 71T X5 — il UTtd 7 81 Fh”
& o ITRITRT T T sk BITI- ST | 3(d: 3 fdhed &
AR F o0 T Tea e 31 W7 — S U7 B 0 | ST —
ST A 8

Ques 80. ANS (A) Solution: T 7T g 3R &1 fadm-
FRIER S 3 fdhed 3 facim Teg 1 31 weg fadie
JUER - I FARER - SMTER ATA - ST

Ques 81. ANS (A) Solution: IR passage Rea =M ) A
at 1 TR BN % farft B ©IF, g™ a1 TRIM & Tgd
Preposition 'at’ 1 UGN a1 ST 81 Correct sentence- My
experience at the Indian Institution of Advanced Study.
Ques 82. ANS (B) Solution:

IWRIed passage H UG P Wﬁﬂﬁ@ﬂ? 2) H memorable
(WIRUT A A1) T YA Iugad g | faded firs o 2 g
overcome — SIdHT memoir — GERTT eligible - T correct
sentence— Simla will always be memorable............

Ques 83. ANS (C) Solution: JIWIE idiom' on the cards'
(uTfad) & forg faded (o) Likely to happen IUgad SRS
FAT 8| 3 fawed g 3rf 2 31

Ques 84. ANS (B) Solution: IURIad group of words,
Afternoon show of a film or play aﬂ%ﬂ one word fd®eg (b)
matinee (IR U8R BT Alcdh) IUJ 81T Movie — TarA
Spectacle — THIRIT performance — PEAE]

Ques 85. ANS (B) Solution: JURIGd I o HTd P TR
e ®IM H compatible (3Hd/Gd1a®) BT TGN Sugad
BT 3= ey sy 31 &a § conformity — SFUTE
coordinated — A consequent — IR

Ques 86. ANS (C) Solution: IWRIad group of words, A thing
no longer in use %1%111 one word fd®eg (c) a_c{?ﬂ (Gl'q?alﬁi?l)
Jugad g 317 fadhed! & 312 Broken — 2T §31T Absolute —
U;Uf Damaged - IGPES]

Ques 87. ANS (B) Solution: GLEAM —dH®b, synonym-shine
31 fadwedt & 31ef- Dull - G fade — TR Slow — T
Ques 88. ANS (C) Solution: JURIGd dTa & HId & HTIR
et RIF H reminds (@16 f&e) 1 UG UGS 1M1 3
faeey firsr 31ef &d B 1 recollects — TARUT HRAT Recalls — TG
HRAT Remembers — dlg YGHT correct sentence— Sunanda
reminds me of my school friend whom | haven't seen for
many years.

Ques 89. ANS (A) Solution:

IWId fawedl # 4 fapey (a) influance P gt 31'%1@’% 3{d:
sﬂaﬁaﬁ influence (UHT4) Epﬂﬁl &mﬁmaﬁaﬁﬂa%
Superior — ﬂﬁfﬁg Intermediate — HHAdT Interfere — SWZ%U
DAl

Ques 90. ANS (A) Solution: IR dTHRI & Wdifdrd HIT have
escaped fromd R W has escaped from T UANT gRT
R Either - or correlative conjuction &0 1 31k verb BT
i ords aTE 31Ta_§’a subject%WWEﬁﬂT%l 3{d:
lion singular subject 2T verb singular (has) &T TN gRT

correct sentence- Either the bear or the lion has escaped
from the zoo

Ques 91. ANS (C) Solution:

IR a1 T will be causing & I TR will be caused &1
T BT &I will /shall + bed ST U verb GHRI v
Q’ﬂaﬂiﬂ?‘ﬁ%l correct sentence— The air in the city is so
polluted that it will be caused several kinds of respiratory
illnesses.

Ques 92. ANS (D) Solution: IR idiom' Having the gift of
the gab’ (@Tﬁﬁm aﬂ%ﬂﬁﬁq (d) Take well and
persuasively JUgad TR BT ¢ | 37 fapeq ey 3rf 3a B
Ques 93. ANS (C) Solution: 3IURIGd a1 H at long hours &
R W for a long time WWW B A1 for a long
time T Phrasal verb § foraeT o e ¥Hg ¥ il 5l

Correct sentence- The students were tired after working for a

long time.

Ques 94. ANS (C) Solution: IR dTRT P IGifbd HAT
trapped & R R were trapped 1 TN 1T b aTed Pt
m clause passive | Ugad E?Zﬁ § 3fd: Be + V3 (were
trapped) T TGN IfId BT Correct sentence— The ceiling,
which had cracks, caved in and several people were trapped.
Ques 95. ANS (A) Solution: JURIe aTe o I@ifdrd HRT
Abandoned (BTST §3M) & R TR wandered (SUR-IUR TH)
WWGW@T”WW&H a{zfé?r%w Enhanced —
dJelT Channeled — ATelieR Embarrassed — QfHar

Ques 96. ANS (B) Solution: Vast — ﬁ'-‘ZTIFT, Antonym — Small -
Bler 3 fawedl & 31 Limitless — 3R Gigantic — fa=ma
Huge — &1

Ques 97. ANS (B) Solution: IWRIad group of words' Mark or
substance that is impossible to remove' 33%1? one word
fIBT (b) indelible (31Fe) BT 3 fadedt & ofdf i &
Incredible — SfAYTT Stained — GRT Smudge — Yodl

Ques 98. ANS (C) Solution: Regret— g, Synonym- Repent-
UBdTal 8T 3= fadhed! & 31— Receive — UTW HRAT Repeat —
GG Relieve — T8d &l

Ques 99. ANS (C) Solution: IWIed a1 H Neither of them
have & ®IT TR Neither of them has T UTRT EﬂTIT e
Either/Neither & TTY verb GHRIT singular Ugad Bt Bl
correct sentence— Neither of them has any experience in
software development.

Ques 100. ANS (B) Solution: IURIeK fased! | ¥ fdded (o)
Excepsional CARCREl SI'QJ?&'% 3{d: I A& ot exceptional
(SRTYROT) BTt 3 fadhea &t ac=t Y& & | Imperative —
YGRS Integrated — THIHA Intensify — ool

Ques 101. ANS (D) Solution:

Ques 102. ANS (A) Solution:

Ques 103. ANS (B) Solution:

Ques 104. ANS (C) Solution:

Ques 105. ANS (B) Solution:

Ques 106. ANS (A) Solution:

Ques 107. ANS (B) Solution:

Ques 108. ANS (C) Solution:

Ques 109. ANS (D) Solution:

Ques 110. ANS (C) Solution:

Ques 111. ANS (B) Solution:

Ques 112. ANS (B) Solution:




Ques 113. ANS (B) Solution:

Ques 114. ANS (C) Solution:

Ques 115. ANS (A) Solution:

Ques 116. ANS (D) Solution:

Ques 117. ANS (C) Solution:

Ques 118. ANS (A) Solution:

Ques 119. ANS (A) Solution:

Ques 120. ANS (A) Solution:

Ques 121. ANS (A) Solution:

Ig 98 fagH § S SFaER 3R ARG Uicharsht &7 srega
FRATT

Fif g ufsharell & IR & Fard1 8, T8 nyfis e &1 i
i gew B

g AfdarTd fafedl &1 IurUfa & IR & Farar g S fodt
AT & SfTH B TR Fd ¢ Hifh We1 AR ki
1 TS YT § Ol § 910 IR B YU HRell 3

It is the science that studies behavior and mental processes.
Since it tells about the processes, it is an essential
component of modern education.

It tells about the presence of individual differences that
influences the learning of an individual since learning
influences behavior that forms a part of our personality.
Ques 122. ANS (C) Solution:

&I U B P §1G AT B Tg1 Sobll | T§ T UH1 I §
S Sfia 4R il 36l 8, ST 4 IR <Ieh gl Sffel ¢ |
'R I’ BT AR H IR TR0 M g

IR T: HARIHAT ARl B P B 1 Ub SiaHied
3G AN & BRI U HRATS Y& 8 Sl 3

3icTG: U8 Uh &d B Iudisd B geRT °RUI §| I U oiid &1
30 Teg BT 3R URA B b o7 Teb Iad Wee b =Y |
BT Bl ¢ | T8 I 19 ! (UM § ot R & fow srroft
HESEIRGARRI R On

TTe: BT § GHRIETD URUTH Ueh Afad b T aed U
FX & T URT B3 H TP UciTe & ¥4 H S XA 6| T8
TTaR0T BT I © S AGER B Afehd, MR SR 918 3adl
gl

TeT: d GHRIAD A1 THRIAD 81 Ghd ¢ | IHRIAD ded I
21 € e cafeRt T 53 Y IR v B, SR fob i,
IS, YT SN | THRIES 16 3 8 & oY e s
T U BT BRI I &, S o T fRUR, sromH, <8
affel

Need

Motive al -
Goal otivationa Dehei

Cycle

Incentive

A person never stops after achieving a goal. It is a cycle that
continues throughout life, hence, called the Motivational
Cycle.

The Motivation Cycle is comprised of four stages:

Need: A need is a lack of necessity. An action gets initiated

because of an underlying need.

Drive: It is the second step in the achievement of a goal. It

acts as a persistent stimulus to push an organism towards its

goal. It is the state of heightened tension leading to the

behavior. It has a direction and valence.

Incentive: Positive outcomes from actions act as an incentive

in motivating a person towards achieving a goal. It is the

object of the environment that activates, directs and

maintains behaviour.

Goals: They can be either positive or negative. Positive goals

are the ones that a person tries to attain, such as

relationships, food, success, etc. Negative goals are the ones

that a person tries to avoid or escape from, such as

embarrassing situations, insults, punishments, etc.

Ques 123. ANS (D) Solution:

Iudad U B, HIgeR-HER 7Tad JH ¢ | HIgaR & AL

3T o TR H se/RurSt 2 3

BHgeR $1 3o Siaefd Rigia: 7 sdrdr ¢ fob o1 P aufe

TS § ST T BIaT 7, o fodt It 1 T e &

FAP Y 'SEHD ' 3 A G|

3O oY Hlgar A Fafafad win o1 ves o

I5i il BT T dg HHR | 771 95! HIeH B I9D! Ugd

Y g AT 74T T, 3R I, B! ot Aot at Bt et off|

fermiSt Hie I U & ol HHR & 3fa T gl Tl

I8 (& TR IR TS G151 AT § AR TS| BT ST HRb

IS BT ST XTI BT BRI BT 3

Ig &1 e ST 91 o a8 v SR e o1 o e o,

TSt o1 3EM® Ty 3R TS BT IYTNT B BT AR 37T

Tl

gﬂw,agﬁmﬁéﬁw%%m—ﬂ@?‘@ww
I

In the above-mentioned situation, Kohler- Pigeon is the

wrong pair. Monkey/Chimpanzee was involved in Kohler's
experiment of Insightful Learning.

Kohler's Insightful Theory of Learning: It says that the
solution to a problem arrives ‘all of a sudden’ flash of insight
when a person is struggling.

For this, Kohler demonstrated the following experiment:

He kept chimpanzees in a closed room where food was kept
out of their reach, and items like boxes, and the stick was
there.

The chimpanzee would roam inside the room to reach the
food.

They would ‘suddenly’ stand on a box and use the stick to
bring food close to them.

It should be noted that it was not the result of trial and error
instead, the chimpanzee suddenly came up with the idea to
use boxes and stick.

Thus, it is concluded that Kohler - Pigeon is a wrong pair.
Ques 124. ANS (B) Solution:

gfauTRel = 3 St B Teffd FRd § St 3 TgdhHl uHg
P 39 ATl B G H SRTYRY T J B B &1 3T
ol # T i § Hifeh I U S9d v ep 3R D
BICk]

TAUTRITC S SRTYRUN &0 § forRRg 8 § SR oot W




T &1 Iy B & o I Ud A 1 SR WA 81 T
3MidRe TV I 3MH-FHH § IR B &

gfaumRITel sl & '1.Q. B Het FHT S o g 1Q drferep
A

el Ui FAffevor
0-25 Tgd D dedlg, gheeH
2650 TR ¥ ¥ Heglg, 9 g

41-55 g

56.70 B UMM, Eol Hagls, HHIN
feamT arer

7185 et 1 & g e, Hea @t dn
W R, g™

86-115 T, Sed

116-130 dgls

131-145 gfaHTEed

ljfgi PIGRIGIES

Gifted children refer to the children who perform tasks
extraordinarily when compared with others of their peer
group. They are independent in their judgments as they
possess advanced logical and creative thinking.

Gifted children are exceptionally curious and have a thirst for
knowledge in order to satisfy their own curiosity. They are
intrinsically motivated with high self-esteem.

Refer to the IQ table to know the correct range of '.Q." of the
gifted children:

Range Descriptive classification
0-25 Profoundly retarded, idiot
26-50 Severely retarded, imbecile
41-55 Retarded
56.70 Mildly subnormal, mndly retarded,

feeble-minded
71-85 Slow learner, borderline, moron

86-115 Normal, average

116-130 Bright

131-145 Gifted
a;:\?e Genius

Ques 125. ANS (C) Solution:

3R TfhaTeTds SIaRT: (12-18 Years)

T TR W, D S SAURONSH & IR H for ST &
ICEARCERGI]

T G H, TTeS TR0 3R Ffe F Srerral HTedids-
TS dh BT IUTNT HRPp AT B! 8 B Thd g
TS &1 | o 6 Su=es AfhareTes 3R & aRM
et ad Teayul 8 ST § SR fosh fawy ufvomy &
AuiRa B & o v I Rigia o7 STt o34 & &9
P AT HT Bldl 81 39 UBR & a1 H pieufep Rufaat

fere g1t § STR v fag ok 71fra ® et sima=adhar gidt
gl

Formal Operational Stage: (12-18 Years)

At this stage, the child develops the ability to think about
abstract concepts.

At this stage, children can solve problems using
hypothetico-deductive reasoning rather than trial and
error.

Piaget believed that deductive logic becomes important
during the formal operational stage and requires the ability
to use a general principle to determine a particular
consequence. This type of thinking involves hypothetical
situations and is often required in science and mathematics.
Ques 126. ANS (C) Solution:

3o HfRATH B AR T grT &t 7 ot

3fge I BT Rigid ggl IR fobd 1T I TN IR
TR Bl

I URdIad foba fos safa qafaRor & Hapd UTd $vd § 3R
fth= I Hebdl b1 ST Sl Bfa AT WRHIHD A F7
CANIMGEGES

S SIS AHRET BT IUdNT R, fad gafaruiy fRufe
3R Iy vfafsranshi & ggama e 967 9% Ugad o

The concept of latent learning was given by Tolman.

His theory of latent learning is based on his experiments with
rats.

He proposed that individuals get cues from the environment
and then use those cues to build a mental image or a
cognitive map.

By using these cognitive maps, individuals reach the goal by
manipulating the environmental situations and the suitable
responses.

Ques 127. ANS (B) Solution:

3MH-SMRe b HIGAT:

I UG o T @t WTa=T & wTy-wr et & Sl ot
TRATSEd HX B &1 BT SATTIHT Bl 6, SMH-AED
RICEIMETRIGI

Y UIGHTY 39 91 BT RO § S ArHTTore AMCS! ok Fadt
@1 30 I3 81 & a1 e

Iftfeh, sroRTeY, SfHM, Tl TR SIUHM SH-SRED
YTaTeff & IETeR0I & |

S-SR TG 3 W1 P IRUMRGET Ia9 8t €,
o1 g2 a% B cafad Suit srdemaf, Rl @ srdemaf a1
THIRIS AFES! &) IR B H Ged gl 2|

Self-conscious feelings:

Those emotions that require a sense of self, as well as an
ability in order to reflect on one’s actions, are called self-
conscious emotions.

These emotions are a result of whether the expectation in
terms of social norms and rules are met or not.

Examples of self-conscious emotions are embarrassment,
guilt, pride, shame, and humiliation.

Self-conscious emotions occur as a result of the extent to
which an individual is able to meet his/ her own expectations,
the expectations of others, or social norms.

Ques 128. ANS (A) Solution:

Hferkica:




W SR a3 [y Wl o1 Iechg Hd § el g
3O T BT aRHId X §

i &1 WMfsaes 31 wife ez WA ¥ foram T B, I
uer # Sftdrsl gRT S0 A8R & AH3MU D FGa & foy
ST T S arat gret|

Ffdac safamr SR fRufaat oR ufaferan 337 & o fafke
REIEARHRRERGIES

HfFHl & o9 FagR et Aaval 3R T e & iR
TR eeht fRRATSH B! g™ iR THzm & e o
=T 3R Rigid faesid fbe MU gl

IR

PHR TP THA T 3 g ARl & Sfue sfaeii
& 3MYR R AN I IR UHRI H aiidd bl

I 39 o RIS F1GC 3R WHIT BT XA |
I o IR USRI & IR # 91d ST 38 A g

(i) T UBR:

YRY TRR & YR aTel T8 7T &g H BIe 8id 6|

TG UHR & AAAPId & RIGR 8 B 3= GHIGAT
gl

(i) TIT BT UBR:

T8 faq e AUkl & 9 dd ok uad gid g
WY & IR 3= "Rpeizs” & U B aifferd foear S g
3R I8 Ryeipfar 1 fiwR feRid 8 g 2

(iii) GBI BT YHR:

2 Oeita GobR & BId & SR 370 orwst die A FifHa Aigafmt
Bl § SR T 77 3 it et © SR A &1 BI

2 fRR 3IR W WHTE & Bl § IR AR § 81 Tl uRaciH1
¥ fou g &1 guRifod = o Wem 81 3

(iv) P B UHR:

39 9ot & 9 T XM & S SR afvfd faedt Hf faser &1
U&= g1 B &, Al diiHl PR &b BT g

Personality:

Self and personality refer to the characteristic ways in which
we define our existence.

The literal meaning of personality is derived from the Latin
word persona, the mask used by actors in the Roman theatre
for changing their facial make-up.

Personality refers to our characteristic ways of responding to
individuals and situations.

A number of approaches and theories have been developed
to understand and explain behavioral differences among
individuals, and behavioral consistencies within an individual.
Explanation:

Kretschmer was a German psychiatrist who on the basis of
his observation of patients classified people into four types.
He used the physical constitution and temperament for this
purpose.

The four types he talked about included:

(i) Pyknik type:

Such people are short in height with heavily built body types.
Kretschmer called them “cycloids” as they have a high
probability of falling prey to the manic-depressive type of
psychopathology.

(i)Asthenic type:

Such persons are tall and thin with underdeveloped muscles.

Temperament wise they are categorized as "schizoid” and
may develop a disorder of schizophrenia.

(iii)Athletic type:

These are muscular types and have well-built muscles and
are neither tall nor short.

They have stable and calm nature and are able to adjust
themselves to changes in the environment.

(iv) Dysplastic type:

This category includes people who do not exhibit any of the
characteristics mentioned above but are a mix of all three
types.

Ques 129. ANS (C) Solution:

faws Afderdr 1 srawT I Afie Furiare & 99 ¥ o
SInE

AT TR ¥ SHRRIUT 31 91l 5

T A B R AN b T 3R BT BT UTe &R &
LRI RARECERIE ISR C I

3 PR x4 ¢ for weft frgm foreht 7 foredt onfressor aafaa
(G HTefT-fore, fR1efep, 4TeT) §RT SFIE MY 7

3R 37 e &Y disd R b1 3R B! IoT (SRRt =) <
gl

The stage of heteronomous morality is also known as moral
realism

Morality is imposed from the outside.

Children regard morality as obeying other people's rules and
laws, which cannot be changed.

They accept that all rules are made by some authority figure
(e.g. parents, teacher, God)

and that breaking the rules will lead to immediate and severe
punishment (immanent justice).

Ques 130. ANS (D) Solution:

faferam S

TriaTe Bt RITgT faferem S 7 s & g1ds fayfaened
BRI

faferam S T ST QR SR TGRS & R &
fafercte & wu it ufRreror ferar i

faferaw S = AIfA & sregae o forg " fiRuet it
HIEHIdie" AHS T for |

i1 feat:

S &t snyfes g & TeH eI, Rienfag ok faar® |
Yeridlg & oY T He@yul TR foig o fedt & d@ &
FRoRia offch 1AL & WS Iaioll 37 AgpIaiiorbe Reg,
(1896) hT UhIRIT UT|

S 3R Eﬁﬂ?{

IEN TERiaTE 3 WY e B 3|

ST SR, Ufore A & foRiedt <kl & wu § Weag ok
UDHTIATG 1 FHIET B

I TR ST EIATE HT Ty qd a1 ' A &,
fopaare 1 ey Tfhar 3 B

William James:

Functionalism was founded by William James at Harvard
University in America.

William James was an American philosopher and
psychologist who also trained as a physician.

William James wrote a book for the study of psychology




called "Principal of Psychology".

John Dewey:

John Dewey is a great philosopher, educationis,t and thinker
of the modern era.

A critical starting point for functionalism was the publication
of John Dewey's article The Reflex Arc Concept in Psychology
in Psychological Review (1896).

James Ronald Angel

He has given a clear explanation of functionalism.

James Rowland Angell advocated structuralism and
functionalism as two opposing forces.

According to him, where structuralism is related to 'element’
or 'object’, functionalism is related to 'process'.

Ques 131. ANS (C) Solution:

BE A fHIRTGRT Y SIgHTA 31 12 - 19 I8 gl 81
TSH! T, TY BTHIA IR, U GRT A BIefl B, S IRR
H 21 arel fafte TiRes uRad-i % o Rer g g -
IRR & S faaror

STANS R YHIg

a1 RN gRT 1a H 9fG SR HeW & Fde &1 HRuT
CERIN

ARl 1 e SR faaror

Biedl & farg o i

U R H gig

TSl Ik DIRIBTST b IaTe H gi

T 3IR SISHIN BT SMHR TG

IhTu[3ft T fHfor

TSfpal H, ST Afedr YR S S TRIoH 3R ToReRI
D AT BRAT Y= PR ol & ol [h2R ASH! P TWR T g
aret faftr IR ufkacHT 3 fore RrfeR 8 8 -
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HHAA AR fr =

IRR H T BT g1

ERIEERERE RIS | 4

I SHTe § gl gfs
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ESEACTEEANCEIR]
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The approximate age of puberty among students is 12 - 19
years of age.

In boys, the male hormone testosterone, secreted by the
testes is responsible for the various physical changes taking
place in the body -

Body hair distribution

Effect on the voice

Increased secretions by skin glands often lead to acne
formation

Muscle development and distribution

Increased bone growth

Increased metabolic rate

Increased production of red blood cells

Increased size of penis and scrotum

Production of sperms

In girls, the ovaries start secreting the female sex hormones
viz,, estrogen and progesterone that are responsible for the

various physical changes taking place in the body of the
adolescent girl -

Body hair distribution

Soft and smooth skin

Increased fat deposition in the body

Slight increase in metabolic rate

A small increase in protein deposition

Increased deposition of calcium in bones and increased bone
growth

Development of breast tissue

Increase in size of all reproductive organs — internal as well as
external

Initiation of menstruation (menarche).

Ques 132. ANS (D) Solution:

EGEGREIE RS NN CRIBIEEIE R CRICE IR

O de LT DI WIHIAD IETS S Ty Se-1 Wi g1
g WIS SfohaT B1 AR Bl § oY b Th ded
ISP U SIHIId ST & ST S Jd WIHTas
3fhAT & T Th WIHIAD SIfehar Bl ITRT BT
WIS I519e (UCS) Teh Sitd § WIHTide 3okt (UCR)
IUF PXAT 5|

Ueb e Sl bl Sfohal S= T8 ell & (31ufd, Tewy)
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JEUS S =Y & ST Sl |
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It was discovered by Ivan Pavlov, a Russian physiologist.

It involves pairing a neutral stimulus with an unconditioned
stimulus.

It triggers an unconditioned response such that a neutral
stimulus will become a conditioned stimulus triggering a
conditioned response similar to the original unconditioned
response.

The unconditioned stimulus (UCS) produces an
unconditioned response (UCR) in an organism.

A stimulus that produces no response (i.e., neutral) is
associated with the unconditioned stimulus at which point it
now becomes known as the conditioned stimulus.

After Conditioning the conditioned stimulus (CS) has been
associated with the unconditioned stimulus (UCS) to create a
new conditioned response (CR).

Ques 133. ANS (D) Solution:

AFAAIaTE! AR U eRHI0 g S AT b1 31U Sita &t
FIERIT $X BT &Fdl R Hisd g1 SHSTEH ARGl ST HHIdEG!
AR 1 GRIYH {1 ST 2|

OHJAaTe! AT HHd 28R B 7 Had Taed ot 2
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3R eI 3R 3eH-Bf A Fo1 8 1

U fARIVdT o= 391, fobll o W bl g bt T,
H-TETHR & T T BT 3R ST & BT ST
gl

IR IR & Higd HA & Soird, AHadrard! a-fdwe
BT I & B Yol B 3R ITBT TS Bl MABTH HRA
H TEE HRA BT TN BT B




Humanistic psychology is a perspective focused on people’s
ability to direct their own lives. Abraham Maslow is
considered to be the founder of Humanistic Psychology.
Humanistic psychologists look at human behavior not only
through the eyes of the observer but through the eyes of the
person doing the behavior.

Humanistic psychologists believe that an individual's
behavior is connected to his inner feelings and self-image.
The key features are free will, freedom to choose one's
destiny, strive for self-actualization, and achievement of one's
own potential.

Rather than concentrating on dysfunction, humanistic
psychology strives to help people fulfill their potential and
maximize their well-being.

Ques 134. ANS (A) Solution:
Ffaic A9 e et fa 3t faRivansf & A I )
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Personality measurement refers to the measurement of a
person's characteristics. Personal history is the subjective
method of personality measurement.

The subjective method means that which individual is
permitted to disclose what he knows about himself.

It includes traits, attitudes, personal experiences, aims, needs,
and interests.

The subjective method includes personal history, case
history, interview, and the questionnaire.

Personal history includes the events of a person's life that
occur in their life.

In these experiences throughout his life, his present aims
interests, and attitudes are included.

The individual has freedom in selecting experiences that are
important to him and these reveal his personality.

Ques 135. ANS (D) Solution:
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Strategies for keeping good mental health of students:

Empathetic behavior of the teacher- The teacher should
show acquiring attitude towards the learners and listen to
them when they tell about their concerns and viewpoints.
Motivating students for self-discipline- Teachers should help
students develop self-discipline by encouraging them
through self-monitoring their own behaviours.

Organizing guidance program- Teachers can provide
guidance on issues that are problematic for the children.
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Predictable Patterns of Development:

There are two principles of growth and development or we
can say child development takes place in two directions, one
is from the head-to-foot/toe direction and the second is
from center to periphery.

The Cephalocaudal Development: It exhibits that the
development proceeds in the longitudinal direction i.e. from
head to toe. That is the reason why a child first gains control
over the head before s/he starts walking.

The Proximodistal Development: It proceeds from near to the
distant and from parts of the body near the center develop
first then the extremities. Therefore, the child in the earlier
stages of development starts developing the fundamental
muscles rather than the smaller muscles or fine motor skills.
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According to Erikson’s theory of stages of development in
Adolescence, the “Identity Vs Role confusion” is found as
characteristic of development.

At this stage, children explore their independence and
develop a sense of self.

Feel insecure and confused about themselves and the future.




If an adolescent resolves this crisis, then a sense of fidelity
would develop.

If they are unable to resolve they develop an identity crisis.
The two opposing qualities are ego identity and
confusion/diffusion. Those who develop ego identity yield
the virtue of reliability means it is the basis for reliable
thought, reason, morality, trust, and loyalty, while the
inability to do so — ego confusion — creates a quality of
repudiation.
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Social constructivism is founded on the thesis that social
processes are central to learning and cognitive development.
It regards knowledge as a social construct and prioritizes the
social aspects of learning and cognitive development.

Some of these social aspects are language, culture, everyday
practices, material objects, interpersonal interaction, peer
interaction, tools, and symbols.

Flexible curriculum, flexible timetables, flexible mode of
assessments, flexible seating arrangement, learners working
in groups, etc. are characteristics of a Socio-constructivist
classroom.

It emphasizes providing students with a democratic
environment to make them feel comfortable in acquiring
new knowledge and information.

Socio-constructivist classroom lays emphasis on collaborative
learning which refers to a situation in which two or more
people learn or attempt to learn together in a group.

For example, Giving students the opportunity to discuss their
experiences of celebrating festivals in the classroom and
building upon that information.

It is a method of teaching and learning in which students and
teachers team together to explore a significant question or
create a meaningful project.
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"Fluid intelligence"” refers to the ability for abstract and
logical thinking and does not require any previous
knowledge. It is the ability to think and reason abstractly, as
well as solve any new problem or task without any prior
knowledge or experience.

It helps one to examine a novel problem, perceive the
relationships and patterns that underlie the problem and
solve it using logic.

The fluid intelligence of an individual increases rapidly during
childhood, but declines in later adulthood.

It can be measured by tests of puzzle-solving, and spatial
visualization. and block designs.

The measures of fluid intelligence(Gf) are- The Cattell Culture
Fair 1Q tests and The Raven's Progressive Matrices.
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There are five main cognitive processes:

Attention: Attention is focusing of consciousness on a
particular object. The span of attention varies from individual
to individual and depends on various factors.

Perception: Perception is a process of selecting, organizing,
and interpreting sensory information based on previous
experiences, others’ experiences, need, or expectations.
Learning: It is a “relatively permanent change in behavior (or
behavior potential) resulting from experience.

Memory: It refers to the ability to retain information and
reproducing it over a period of time when required to
perform a cognitive task.

Thinking: Thinking is a higher mental process. It is a problem-
solving process in which we use ideas or symbols in place of
overt activity.
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Graham Wallas (1926) outlined the creative thinking process
into four stages:

Preparation: It involves collecting information regarding a
problem in order to solve it through trial and error, recalling
personal experiences, and investigating in all possible
directions.

Incubation: It is a slow process in which the individual sinks
into the unconscious and reflects on the problem. In this
stage, individuals forget irrelevant information or
unsuccessful attempts and engage with the task effectively.
[llumination: It is the stage the individual is most active and
conscious. It is in this stage that an insight to the problem is
experienced suddenly and a new idea or solution emerges.
Verification: This stage might involve modifications to the
solution reached in the previous stage by adding or
subtracting, or making new connections. The final solution
achieved is tested in reality. If the solution does not apply to
the problem then the whole process is repeated.
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Classical Conditioning Theory:

It was proposed by Ivan Pavlov. According to classical
conditioning, we learn by making associations and
relationships among various stimuli. During classical
conditioning, organisms acquire information about the
relations between various stimuli, not simple associations
between them.

The subjects of learning in this theory are always some kind
of automatic, involuntary or reflexive responses such as heart
rate, salivation, vomiting, pupil dilatation, etc.
Stimulus-Response Theory

It was proposed by Edward Thorndike, who believed that
learning boils down to two things: stimulus, and response. It
is a theory that proposes that all learning consists primarily
of the strengthening of the relationship between the stimulus
and the response.

According to him, learning is by the association between the
stimulus (presence of the lever) and the response (pressing
the lever). Mainly these theories emphasize providing a
conducive and supporting environment to facilitate learning
with intelligently manipulated reinforcements.

Operant Conditioning Theory:

Skinner propagated an operant conditioning theory related
to the stimulus-response relationship and reinforcement. In
his view, learning is a change in behavior. As the learner
learns, his\her responses in terms of changed behavior
increase.

Learning is, therefore, formally defined by him as a change in
the likelihood or probability of a response. Operant
conditioning is a learning force that affects the desired
response more frequently by providing a reinforcing stimulus
immediately following the response.
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Henry Clay Lindgren points out that educational psychology
is concerned with understanding the learner, the learning
process, and the learning situation.

The Learner: The learner is the most important of the three
elements, not only because people are more important than
processes or situations but also primarily because without
the learner, there is no learning.

The Learning Process: By learning process, we mean
whatever people do when they learn. What they ‘do’ includes
behavior that is not directly observable, such as perceiving,
thinking, remembering, and identifying; as well as the
behavior that can be directly observed, such as writing,
computing, attending, and talking.

The Learning Situation: It refers to the environment in which
the learner finds himself/herself, and in which the learning
process takes place. It includes factors or conditions that
affect the learner and the learning process. The teacher is
one element and another is the classroom setting
(ventilation, light, noise and arrangement of seats, and so
on).
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Normal learners are those students who appear physically
and mentally healthy and adjust to the normal process of
learning. These children have average or above-average
qualities.

Learning disability is a developmental disorder which
becomes conspicuous when children go to school. In spite of
their average or even above-average intelligence and
adequate schooling, these children lag behind in their
academic skills.

These children have fundamental difficulties in the
monitoring of basic psychological processes, such as
attention, perception, memory, logical thinking, and so on.
However, before giving diagnostic labeling, one must
exclude the possibility of other developmental disorders such
as mental retardation, perceptual problems resulting

primarily from impairments in vision, hearing or motor
disabilities, emotional disorders, mental retardation, global
developmental delay; nor should it be due to environmental
factors such as deprivation, abuse, or poor schooling, lack of
motivation, cultural or economic disadvantage and linguistic
diversity.
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In the social sphere, adolescents undergo a lot of changes in
their interpersonal relationships and they also begin to
understand society and its diverse influences.

Body image becomes a very important concern for
adolescents. Having an appropriate figure is almost a
teenage obsession so feel that everybody is looking at them
and they become conscious.

Being recognized as a popular member of a peer group is an
important adolescent need.

Adolescents often get into arguments with their parents and
elders since they want to break away from their control.
Adolescents also begin to acquire beliefs, opinions, attitudes,
and stereotypes about a society based on their
understanding.
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When a teacher presents the subject content in different

ways by involving a multi-sensory approach which includes
visual, auditory, smell, and touch and also takes care of their
interest and motivation it helps all types of learners including
children with special

needs in the classroom resulting in the most effective
teaching.

Effective instructions need to respond to the characteristics
of a diverse group of students as well as be precisely tailored
to the unique strengths and needs of each student.
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School psychologists work within the educational system to

help children with emotional, social, and academic issues.
The goal of school psychology is to collaborate with parents,
teachers, and students to promote a healthy learning
environment that focuses on the needs of children.

Various early schools of thought: Structuralism, Gestalt
Psychology, Functionalism, Behaviourism, and
Psychoanalysis. some of them are defined below:
Structuralism: The definition of psychology, according to
structuralism is as follows - “psychology is the analytic study
of the generalized adult normal human mind through
introspection.”

Structuralism, a systematic movement founded in Germany,
can be thought of as a highly developed introspective
psychology, which was represented in its final American form
by the work of Edward Bradford Titchener. In 1898, to
differentiate his perspective from the others, Titchener came
up with the name structural psychology or structuralism
Structuralism emphasised that the subject matter of
psychological research consists of images, thoughts, and
feelings, which are the elements, forming the structure of
consciousness. The goal of the structuralists was to find the
units, or elements, which make up the mind.

Structuralism had the following aims:

To describe the components of consciousness in terms of
basic elements.

To describe how these basic elements are combined.

To explain the connections of the elements of consciousness
to the nervous system (i.e., physical processes).

Thus, the Structuralism School of psychology believed that
the proper subject matter of psychology was the study of the
contents of consciousness.
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According to Goleman, the skill of ‘'understanding others’

comes under the social contract dimension of emotional
intelligence.

Goleman defined emotional intelligence as a person's
capacity to control their emotions and express them in a
healthy and productive way.

The most significant predictor of success in the workplace, in
Goleman's opinion, is emotional intelligence.

Goleman describes it as "the capacity to recognize, evaluate,
and regulate one's own, other people's, and collective
emotions.”

Goleman created a performance-based emotional
intelligence (EQ) model to evaluate employee emotional
intelligence levels and pinpoint growth opportunities.

Thus, it is clear to us the ability to "understand others," in
Goleman's view, falls under the social contract dimension of
emotional intelligence.
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Social motives such as the need for power, affiliation,

achievement, and approval are learned motives and involve
other people.




Achievement refers to the need to achieve or accomplish a
task and surpass other people.

Affiliation implies the need to make friends and seek
cooperation with others.

Power is the need to control and influence others, to gain
power, or do something that makes a person feel powerful
and strong.

Aggression refers to the need to fight and take revenge, to
belittle or curse or ridicule the other.

Nurturance is the need to take care of others and help others
when they are in a problem or are sick.
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Types of thinking-

Divergent thinking- It involves breaking a topic down into
various component parts in order to gain insight into the
various aspects of the topic.

Creative thinking- It is the thinking involved in creating new
and novel ideas or objects. It involves rearranging the
existing stimuli to create something new.

Deductive thinking- It claims that it's logically necessary that
if the premises are all true then so is the conclusion. If
deductive logic is used accurately and correctly, accurate
points or arguments will lead to an accurate conclusion or
result.

Logical thinking- It is the process in which one uses
reasoning consistently to come to a conclusion.
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TP & GXAARU1 H, Tp il o GRHI0T H, TP A & fawaror
311 o e mgwayuf yfiyest AT g1

Education helps in maintaining continuity of culture,
education plays an important role in transfer of culture,
refinement of culture, expansion of culture etc.

Ques 152. ANS (D) Solution:

a1e & f¥eal & forg yahrg sifdny woroiie?ur weardr g1 ifm
FHTSIIHRU B SAYRUN B FAGUH FHTSRIRGA IAeTE . B
GRT URHIY fobam |

Rehearsal for later relationships is called anticipatory
socialization. The concept of advance socialization was first
introduced by sociologist Robert K. Was defined by Merton.
Ques 153. ANS (A) Solution:

e U UTaqwe - TS Bl GfGHM 3R U8 U, e
dsfopdl Bl 75 3R HIaHI- TS 24U I If3d fear g, Y ag
FHY RS feanedr &1 IeTeR0 8 | THS &I TFT I3 3R

ol & ) ot §1 3 TR fomam ofiR wfaforan s
IS STGRIT BT 0 HR & | THIS BT TRERT & AR
TS Tt 3R ¥ 1 i UfiHTd Tae & TRERT & SR
fATHE TR 3menid gt & auT S g § | SHifene 9 dffie
Feared ¥ SISHR G@1 Sl g, St bl TS 3 Mgl B
gfar gl

If a textbook portrayed boys as intelligent and dominant,
while girls were portrayed as submissive and emotional, this
statement is an example of a gender stereotype. The
structure of society consists of men and women. These
interact and react to form a social system. According to the
tradition of the society, the fixed roles of every man and
woman are based on gender discrimination and are unequal.
That is why it is seen to be linked to gender stereotypes,
which reflects the stagnation of a society.

Ques 154. ANS (D) Solution:

e foreit Pl & forw gy a1 wfger favy &1 sranfde &9
3ifergpd bR fam STl ¢ ol 39 o1 Sfesg gl Sl ¢ 78
AT : faegTerd, Seunall, sriwmensi ar yanTRIensy # de
D firet ofran 8, S srfed 9 S g

When a particular man or woman is illogically authorized to
do any work, it is called gender stereotyping. This is generally
seen in schools, institutions, workshops or laboratories, which
is inappropriate and anti-social.

Ques 155. ANS (C) Solution:

& foT SiSX-ueuTd & IR H yRerE B3 Gay THERIe!

R 8 Gohdl &1 51 BT fop it fawar-avg Wk et e €
¥ FAfed srayRomsii ® 3rd TRE THSd & a1 39 WR i
XA ¢ SHY B! SAURUM WY & St ¢

Discussing gender bias can be the most effective way to
reduce gender stereotypes and gender-role conformity
among children. When students discuss any subject matter,
they understand the concepts contained in it well and reflect
on it, this makes their concepts clear.

Ques 156. ANS (A) Solution:

THAA Y 1916 B WABIS 9 TIEUT & SR T 90-110
g A ard I1ae! B AR gfg b fatid [T B 3P
T AT 50% Bl B

Based on the Stanford Binet test of 1916, Terman has placed
children with an 1Q of 90-110 under 'normal intelligence'.
Their number is usually 50%.

Ques 157. ANS (C) Solution:

Iferd Rigid forst & gRT fobet +ff vepo 1 it A wHe @
AR T ST bl § 8P SHcid fobpal +ff SaeRon B
BIE-BIA Iu-srayronsit & sie fGar smar 81 oy gR1 gamn
&Y afRAd 9 dda qUT &7 & JHAT Sff Yebell B

Any topic can be easily understood and organized through a
proper conceptual diagram, under which any concept is
divided into small sub-concepts. Through which information
can be explained in a systematic and complete manner.
Ques 158. ANS (D) Solution:

SRTHATED T b TWR| P ST ST, TN quT
HRAHROT JMA § TR Hed1 T e 3




The levels of inductive reasoning include observation,
experiment and generalization but do not include
imagination.

Ques 159. ANS (D) Solution:

11 1 fefe o g1 UefRfd 81 B- 1. Seafsdban 2.
Toflgararg 3. gurfarg Jafddemarg 3 STad o1 fide Tet
UeRid gid1 ¢ | dafdiearg U Al et Td rHToh
3= 8 Sl fekd & TeAdl T4 SR R o <t 8|

The child's thinking is reflected in the following- 1.
Egocentrism 2. Animism 3. Realism Individualism does not
reflect the thinking of the child. Individualism is a moral,
political and social philosophy that emphasizes the freedom
and self-reliance of the individual.

Ques 160. ANS (B) Solution:

& HIs ST deb YR Bl § [ &1 B1 gars bt IRy et
P! AT (@8 GaTS Sl STD! el i S g2 & forg sRedt
®), it afe; ag Va1 el & A I UebST IR SR St Wl
fear ST Higer & SUR 98 T= Afde qHY BT gUs Ud
STTITE NI & Sfefdl ST 7| GUS quT SHRmaTe
ST & Sidtia STae 98 afdaal 3yaT fIBR Tw
Sl & gR1 &l & a1l 3vs ¥ 997 & i fifod wa 813
el qur IH! A A e ara guRomH B g 81 faredt
BT &b A R GH aTel R[T TR 39 B DT 35T a1 §R0
feffed Bea B

If a child argues that Hinge should not steal the medicine
(the medicine which is necessary to save his wife's life),
because if he does he will be caught and sent to jail.
According to Kohlberg, the child comes under punishment
and obedience orientation of moral understanding. Under
punishment and obedience orientation, children are
concerned about avoiding punishment given by elders or
people in authority. They understand the rules and the
consequences of breaking them. The physical consequences
of doing any work determine whether that work is good or
bad.

Ques 161. ANS (B) Solution:

Rreres, Rreor-sifirme TrRht &1 T SRR $i srigul 9 &
fore oea &1 Rreror sifere wreht o1 iRt Tl Rregor qun
S ST o forg fova Sirar 3 1 fReron off ameht &
TRI&T0T  hae TR 51 g Tl g AT b1 Hi FHra=1
Bia1 o | e GRT 59 TaNT ¥ g1  THrra o § ok
FHET SR B! THT 30 379 g g S g |

Teachers use teaching-learning materials to make learning
meaningful. Teaching learning materials are used for
effective teaching and interesting learning. Teaching learning
material not only makes teaching easier but also adds
innovation. Its use by the teacher brings concentration in
teaching and the problem of classroom discipline is
automatically solved.

Ques 162. ANS (D) Solution:

o2 AETIP ATHUT &1 BT Ie § — ST 31 &
PS Y&l I WY HRAT| BE-Dhel Rigor gq faftrs sy
TGP JUBRUI BT JUANT 3 ST B | 3719 SUaIT ¥ Rrereh
&1 Reror & werdr e g1 91 g1 e +f fowa &1 3=
TUTR 7/ T FR I § IR ST ured g o ifires wih
RN

The main purpose of audio-visual aids is to clarify some
aspects of the learning experience. Various audio-visual aids
are used for classroom teaching. Their use helps the teacher
in teaching. Besides, students are also able to acquire
knowledge of the subject effectively and the knowledge
gained also remains more permanent.

Ques 163. ANS (A) Solution:

HEI-aT Pe fTex F e smam ursu-armf 81 Rieror &
frdeR (e Taier) B1E =ar fywg =2 8 et 38 Rreqor &1
31 SIR ot fawa a1 o @ stfa=raifad g1 gift| 3t
THR FHe! | RITeR &1 St o1 § | FHEIar RITex $if
ST UaH Bl & iR TR R o1

Stories are easy material for classroom theatre. Theater
(dramatic composition) is not a new subject in teaching, but
it would not be an exaggeration if it is called an integral and
essential subject of teaching. Similarly, story is also an
integral part of theatre. Stories provide vibrancy to theater
and to theater teaching.

Ques 164. ANS (B) Solution:

forit fawr o 31Ty & U Uef & =0 H Il Bt Ffeiad
oI §- (i) SE = drepiferey oot AT g1 &1 (i) 8=
favarg & 997 & forw g v #va B (i) I getfad
Iudfed & e farg BId €1 " IERT IS 3R A g § 1
g HY bl fawd & 3/eaTu & Teh Uef & =0 H Ie =l A
TR TE 3

Objectives as an aspect of teaching of a subject have the
following characteristics — (i) Objectives are immediate and
attainable. (ii) Objectives provide context for selection of
subject matter. (iii) Objectives are attainable points of
possible achievement. "Objectives are broad and general.”
This statement does not relate to objectives as an aspect of
teaching a subject.

Ques 165. ANS (A) Solution:

39 5578 & quf 2 W Rremeff et & g gers &1
ATHRT Y U T WIETd R Gl | I8 IHATES 3639 & a1y
7 T TR I G 1

‘On completion of this unit, learners will be able to

summarize the main events of the story in grammatical form.’
This is related to the comprehension or understanding level
of the cognitive objective.

Ques 166. ANS (B) Solution:

TSTS TR & IUR 3Fdha! YRUNST 3R Tedl oY eam
HRAT Hgayul T &1 aiford el Rl 8 | AT I
Tt ot famy o1 991 & 3G & &1 Sifg & & g
AR YA &= & BT Rl §, ol Tl &b YHTE H 3R 37T
& Frepul & forT ST T § 1 I8 qHansll &1 ugar, 34
AT B T HRA & o1 HagIRG 1o o, Uifid
&1 UgET, I, W 3R TR0 b T1Y HTNT Bl THIH
3R TN B ST BT TS XA P & B! STTIDN
gl &1

According to Edward Glaser, ignoring unspoken assumptions

and values does not underpin critical thinking. Critical
thinking demands a consistent effort to examine any belief or
assumed form of knowledge under the influence of evidence
and draw further conclusions. It is the ability to recognize




problems, find practical means to meet those problems,
gather and marshal relevant information, recognize unstable
beliefs and values, understand and use language with
accuracy, clarity, and classification to interpret data. Is
required.

Ques 167. ANS (B) Solution:

Ans. (b) : Sad FA FAIFE T FED FARH ¢
T araad & S sl @ A Sied d o
THiE & OSE T d G d § e S
shiaq Ferel & d@ 10 21

mv%fgj

e FvrTe & et e vniee &
; i !
AITSE WvTer  feaT e HIHT=T 9T
- TR - g foia FA F B
- 9 HER - faufg & - T H S

- siFdafors T —> TR F GENE —» GEAE F
Ques 168. ANS (B) Solution:
qo BT, Feens fApTe, avgait 3R Set &1 arfferzor qut
&1 T4 Ffe &1 Iuan A weft fcham s qanE § wnia
B | R AT U O fafd 7 o =l &l 59 TR
BT 1 W g b 3 fopedt sratfisd, st qur srefaas
fRufd 9 T oy qifdd qur SR Rufd &1 ok IRa 811
‘Comparing, drawing conclusions, classifying objects and
data, and using trial and error are all processes involved in
problem solving. Problem solving is a method in which
children are helped in such a way that they are motivated to
move from an unwanted, unpleasant and unpleasant
situation to a desired and interesting situation.
Ques 169. ANS (D) Solution:
Tl fopraeiiel s/ & U sfrawaes § fob a8 9 U801 vl
T2 IGP! WA I @ TUT ITP 3 3R 1Y B AeH A
T2 | famr=fia s=i & for gfagaur snawges -6l ]
It is necessary for a developing child to keep acquiring
knowledge, maintain his memory and maintain coordination
between his eyes and hands. Rationalization is not necessary
for developing children.
Ques 170. ANS (A) Solution:
UH ST S YU § 98 IS T § ISP [ SgHar,
YROTSH AIIATS TT WIS 1 U $ § dl 98 B Pl
ST SFR FAT 3

What a child understands is largely a function of his previous

experiences, perceptions, beliefs and intentions, so he learns
better.

Ques 171. ANS (B) Solution:

Tha gAY & FafoRad ardl &1 g1 smawas 8- (i)
YD Sl &b HERTH Al & Giid &Y WibR B (i)
YD & U I8 4 AR DI g1, S I Bt AfdaTd
I3 & IR o=t 3R fRrerr fafert & 9o 9
3HTerd B F oY sazgs THg S ]| (jii) fdaTd
Tt gifa 1 A fier A & e Iugad da-ias qu
gfaferr|

The following things are necessary for successful inclusion —
(i) Teachers should accept responsibility for the learning
outcomes of children. (ii) Teachers should have the
knowledge and skills considered necessary to select and

adapt curriculum and teaching methods to the individual
needs of children. (iii) Appropriate techniques and
procedures for monitoring individual student progress.
Ques 172. ANS (B) Solution:

F&T IR F RIBR T S0 Ha | faee =B sl &
1Y G T el BRd &, T a1 Hf Ef¥EH o
TGl &1 SIIHdl BT Yfcl I dferd g ST TUT IHT
AT [T gHIfd S|

Most of the children of class four do not like to live with the
blind children present in their class, in such a situation the
blind children will be deprived of fulfilling their need of
association and their social development will be affected.
Ques 173. ANS (D) Solution:
famaitTar @ Ui Sl B G aRE U el &l T UgH
JYFDIFHd FRI&T B TRYINT BT 5| guddbIghd e o
3R 3R JEILT & T1Y BT Y G Hel | A et
forar STaT 8 ofF 71 81 T d & Tt =l B ST & WR B
wRare fad fom e wen o =nfire forar omar g1

Teaching students with disabilities in a completely separate
classroom defines 'segregated education'. In differentiated
education, students with adaptations and resources are not
included in the mainstream class, nor are all children in the
school included in the mainstream class, regardless of their
ability level.

Ques 174. ANS (D) Solution:

fa=Iy U § Hie o1 Spie-1gdl, ARG W & Hg), [k
fApanTd @RINSG 1 faprrd®) T tifsd S & fRien &t
TSI SR 3T BT quiH B & fore araean favy e
MG BT IYART b S g | fa=iy Rien wriwH vy
IR Il Sl b ol & | STH Iap! ARy e e
Rrerer ToTS § THRISH 8 URiféd #a 71

The term special education is commonly used to describe the
method and practice of educating students with specific
learning difficulties, mental health issues, or specific
disabilities (physical or developmental). Special education
programs are for children with special needs. In this, teachers
with special education train them for adjustment in the
society.

Ques 175. ANS (D) Solution:

ST AT YT UfshaTafi &1 TR0 3 H BT bl HefH S,
TrE 3 e o T gifar 81 IHeH 8 e & ferg
AT ¢ b - u foell T Sryat Hehed=1 B oo W &

Yeal # qUIF B & T BT a fobll F7aw & brd a1 o

B P fo1T ISTERU1 7 B UGHT 0 FHAT 3R SRGHT
TTHR BET B TREYAT IR FHRA 8 TgradT HRAT|

Enabling students to recall isolated facts and procedures

does not represent teaching for understanding. Teaching for
understanding requires that they: - Asking them to describe
an event or concept in their own words - Teaching to give
examples to illustrate the working of a rule - Building
students' analogies by observing similarities and
dissimilarities To help for.

Ques 176. ANS (C) Solution:

TTEATED 3BT AT TP SHAH &b Sfaiid fRIgdb 3o
QA HriT, Rreror fafay anfe ot qoramn, wHTadwRar qur




UG BT 3MTha FH(AT el § dlich g e BRI,
g7 fafy &1 ok 31fie ITH, THTERITC TUT JUART S 65 |
I o0 B, TRI® Uy, UyHd U9 9d o G & dxids
e fobd) o ©  fob rafiiep Sifa udta S gedied i |
Trafere Sird Ria FHfdd Siieer a1 IRTES SHIdhe | fbal
ST g

Under formative assessment or formative assessment, the
teacher assesses the quality, effectiveness and usefulness of
his educational programs, teaching methods etc. so that he
can make the educational programs, teaching methods more
better, effective and useful. It includes evaluation methods
like assignments, oral questions, quizzes and games and not
evaluation methods like periodic testing. Periodic checking
examination is done in summative assessment or summative
assessment.

Ques 177. ANS (B) Solution:

BE! GR1 U (A3 srafd & 53 T3 Hraf &1 wug dicwifera a1
QUM FHEard 8| UIhIferat debfeuds auT faya-a gedid &1
T f3fty 3 Ford o &) ymifay o) o e s fafvy siftere
gfefRyfat & ATaT SiTa g | SCwIfer Yeuie | fafts 3
AR SrIERM IR B U A & e BT gR1 U Ffda
3rafy 7 ford T T T WU B B

The collection of work done by students in a certain period is
called portfolio or portfolio. Portfolio is an alternative and
reliable method of assessment in which student's progress is
measured in different learning situations over a long period
of time. Portfolio assessment consists of a collection of work
done by a student over a period of time to achieve various
known specific instructional objectives.

Ques 178. ANS (A) Solution:

T qeh SR T & Ufd SrefI BT b B & fag
frafifad SR SR da-ia! &1 TN fordT o avdl - »
TN dh &mdT- SHT e B & forg fafira fafa S,
Si1d, UGRH, Sfadiid foharaey 3Mfe 1 TaRT fbar S wdhdl
Bl « IO & Ufd SR 39T 3MThed B & forw I=al Bt
FE{T-Hel P fPATHAT! BT, Y HRA B AID! BT AR 3D

1 TN a1 S b B

The following tools and techniques can be used to assess

mathematical reasoning and interest in mathematics — «
Mathematical Reasoning Ability — Various methods like
testing, demonstration, observation activities etc. can be
used to assess it. . « Disinterest towards mathematics — To
assess this, children's classroom activities, methods of asking
questions and their various co-curricular activities like
exhibitions, puzzles, games etc. can be used.

Ques 179. ANS (D) Solution:

TS TR SU TG Td Qfey & qees T &
H1eqw ¥ A0 31 Tyl & w0 H aRuid gt 81 <t
SR &b TR, o JRed: Wfdd & e ok gar &
T A TG B

Political institutions are defined as a system of control
through their organizations and legal exercise of power. T.B.
According to Bottomore, politics is mainly concerned with
the distribution of power and authority in society.

Ques 180. ANS (B) Solution:

T% URAR §RT 34 Yo, JaTfed a~M &1 fafame, ora
FAGR BT 01 o1 BT G SR e o o o S & |
Functions like legitimate reproduction, regulation of marital
bonds, control of human behavior are performed by a family
for the society and the individual.

Ques 181. ANS (C) Solution:

ST IH HIg I &1 T8 T Agdl 2 f “HRd & 309 I
& foTT Uit § D SHTHHT DT MR I HIg o Sl
HTST 3R TS fRigm gomeht 31 7w fadn ¢k ars Adrd &
HeH &1 A fHar| 7007 el W, fieg dras 1817
ORISR Bicrol) 3R Haredl | daId HIas I (o

Raja Ram Mohan Roy had a strong belief that “India should

assimilate Western knowledge for its upliftment.” Ram
Mohan gave importance to the English language and the
Western education system and supported Lord Macaulay's
move. He started the English School, Hindu College 1817
(Presidency College) and Vedanta College in Calcutta.

Ques 182. ANS (B) Solution:

SR B Xl SR R YT 71 & | 5% 7l H g,
IR G FHIS 3G BT 3T PR W AR o1 MM

The above statement has been said by Rabindranath Tagore.
In their opinion, emphasis should be laid on studying
literature, history, geography, science, art, music, laboratory
work, horticulture, tourism, self-governance and society etc.
Ques 183. ANS (B) Solution:

oM 1 T 3! UTeaqEad B! aRd § TaaH THBRI
T AL | S Y & UTeagere! & iafaf, gea
SfacidsH, TN 31 &1 o =nifret fosar s =nfge ok fagm &
Ufd Ueb U Hishd G D! dgTd1 G1 AT Sl T Bl I
TH-UT T T O qh 3R FHadt FaT 3eTRd =1 gl

A characteristic of a good science textbook is its inclusion of
up-to-date information. Along with this, textbooks should
also include activities, micro observations, experiments etc.
and should promote an active attitude towards science which
can connect the child with the world around him and is not
merely information based.

Ques 184. ANS (C) Solution:

greT=i 0T 1 SRl T S faRissid aren Sl AT
ST & s e vd Aeifores srawi § eRIAS uRad-
QYR  URHATSH A1 B UIew=d U ILeaqul, wifashie ud
FAYT T ¢ | UTeqad! THIS U9 I BT SaRADH IS B
qfcd o3 U9 Afaal o1 (i fG=m 3t 3R Uad a3 &1 9=Rd
T ¢ Forads ATend ¥ SIS <=1 a1 3799 1 9Tl fay 7 81 3@
5 d fAHN &t sifaradl &1 afdad! d% UgaH d AN
T & Y-T1Y g THI & URYEH H IUYH S BT YA
Bl 31 VY e el Bl Ui # ere ureweaf & i
& fore =iy it Y amaaasar g1t & S T it fafder,
& & TS 7 aRie SR, Wpfa, Ik R sife
@1 U A Tl 8|

The work of curriculum development is considered to be a

highly specialized work because curriculum is an objective,
progressive and systematic medium to bring positive
changes, improvements and modifications in the education
and educational system. Curriculum is a strong way to fulfill
the needs of the society and the state and to direct the




individuals towards a certain direction, through which a
country or a state or a society can reach out to the
individuals and make them aware of the continuity of change
and development taking place in the world. Also tries to
make them appropriate in the context of time. To create a
curriculum helpful in achieving such broad objectives, special
experts are required who have a comprehensive
understanding of the diversity of the society, psychological
and philosophical bases of education, culture, national pride
etc.

Ques 185. ANS (D) Solution:

ST e T 2016 F SIAR, M- & F=i & pd oH
¥ foU R 81 BT g&rT ¥ Taifdid U U fefar ST e
A JurR) <erar € i h-wpa | STeie T &1 39 3R B
T 751 R U &, oIt I8 39 og & axgdsdt gidt ol
According to the National Educational Policy 2016, a major
concern related to school readiness skills of pre-school
children is the readiness skills in the cognitive domain
because in pre-school the child does not attain the state of
knowledge required for He needs it at that age.

Ques 186. ANS (C) Solution:

X e &, Srfrmaedl sl a1 WHg H, 31ea i & gRT
FIERIA BIx BT Pl 5| g e, e &1 a5 yoret 3
forers} Rrerer qur g 1 RIF-fARY 3rar w0 faRy R Aieg
B BT AT dT el gl & 3R gy el &) Gerar & 3=
3 PRI B

In distance education, the learner works alone or in a group,
guided by the study material. Distance education is a system
of education in which the teacher and the student do not
need to be present at a particular place or time and the
student acquires knowledge with the help of books.

Ques 187. ANS (B) Solution:

T fa UGt wHd U Rierds o1 quf, gedt auT et
R & &1 =1fe |

While teaching social science, a teacher should emphasize
facts, values and ideals.

Ques 188. ANS (A) Solution:

Bl VIl B Gl Y 7Ha JH1eH & e & §HY U

e o1 faeniidl &1 ¥ered & =0 # Al & Hew™ & aR d
AT FIeY, WY 81 HIFd SH1Y o1 f[dh fobd YR fobar S
o g, 78 +ft g =yl

While teaching human resources to class VIl students, a
teacher should tell the students about the importance of
people as a resource and also how human resources can be
developed.

Ques 189. ANS (B) Solution:

YIS TGN B HHT, U-3hd T oIl SHafAd Jeam
e § TIaies SIuTdT SfeATyH, URIfE Sreauds & S, srfed
UTGaehH TS T-THd T T[uraT Ta=f THw 8 Tahell § S
Rrgror-s1fms &Y yuifad R T §

Lack of parental support is not a quality related problem in

pre-school, whereas ineffective teaching, lack of trained
teachers, inappropriate curriculum etc. can be a quality
related problem in pre-school which can affect teaching-
learning.

Ques 190. ANS (C) Solution:

ST UTaEdl 1 UGN (NCF)-2005 & SR B $I 3
UIYfAeh TR qh T & H A&on § uRfrd sar faar s
MY TH.HTW. & SIHR Fell TR Ma=ad FY d Th
ISR 3R fIvg & = § R o1 fown g ok &R et o
TN TSR AUl g1 sen & Sfaria-wia, I, T o
3R ATeH—AR| P A fovaT ST AT

According to the National Curriculum Framework (NCF)—
2005, students should be introduced to the basic features of
dance till the upper primary stage. N.C.F. According to this,
art education should necessarily be a part of education as a
tool and subject and every school should have facilities
related to it. All four — music, dance, visual arts and drama -
should be included under art.

Ques 191. ANS (A) Solution:

A & Jue § uredshH I PRt gew giar 81 e st
@1 I & WA & =Y H UTeaehd BT YT 31 Sireft 3 |

A Xsal B Rre & Ie=dl Bt Uit o fo ginforg awi
B SHTAIDH T BIdll & | T8 AT IT YT TR &1
UIGTHH TN 3|

Curriculum is the basic determining factor in the organization
of a school. Curriculum is used as a means to achieve
educational goals. In general terms, to achieve the objectives
of education, a well-planned system is required. This
systematic or planned arrangement is called curriculum.
Ques 192. ANS (D) Solution:

A B RI& & TR0l BT Y ¢ et Suafsy wr | faenfar
DI IUAR TR B IR D! U G0l Y AR a3l |
RIFTIR o STl 71 afe farenfifat &1 Suafsy wrR fw g
® < I8 I ST § 13 Rien & wquran § e § o e S|
XS BT &1 U Rufer B fRrerm Y Torar # YR B Hawadhar
gl 81

Student achievement level is an indicator of the quality of
school education. According to the achievement level of
students, they are transferred from one grade to another. If
the achievement level of students is low then it is considered
that the quality of education is lacking or the education is of
second rate. In such a situation, there is a need to improve
the quality of education.

Ques 193. ANS (C) Solution:

fRreqm B ST &b HE P SR aTel Y HRUTS- a ST
M B Sl BT, IO B BT 3R T HI $TgRAR T 1 m
SITHYT 7T I UGT HA BT U Uad A1 g | w ST
il gRT fad T Uil T THTH God1 BRI 81 0 S
e & S5 B U &1 TRA IUM Sl o1 w SR 3Hd
RIS T[] & AR TR YRS FaRT & qhd
TaTeH H WgTd gId 5l

The following are the reasons which show the importance of
research in education — = Research is a weapon to investigate,
test and validate knowledge. = Research is a powerful means
of generating new knowledge. = Research provides solutions
to questions posed by teachers. = Research gives a simple
way to achieve the aim of life. = Research helps in the
successful running of a healthy administrative system by
solving many administrative problems.




Ques 194. ANS (D) Solution:

RiEii 1 srefaTeTs SR faaRsie Tfafafeal # e
HAT Y e Tudt e ugfa B, o Rresept Y
BIEIEEAERIERESEINERS I MUK LRSI eRIKcH|
FURT-2005 & TR FrHTroreh faF fRieror & Tt fafert &1
SN for T ST A1fRT St TaTerdhdl, Qradary aut
STAIIHS THS IGIY 3R T I 3fdid adT IdHH & &
TR S Td FHIS | g7 Tl uRadHl &) gHe § 9aH
E2y

Engaging learners in critical and thought-provoking activities
is one of the most effective teaching methods that teachers
should use in social sciences. According to the National
Curriculum Framework-2005, such methods should be used
in social science teaching which enhance creativity, aesthetic
sense and critical understanding and enable children to make
connections between past and present and understand the
changes taking place in the society.

Ques 195. ANS (C) Solution:

foreft RIeres &1 T g1 & SR IS Al gei &t yffra
DI gHS & fore faenffat & g urel ot urifirdmdrstt ok
IG@! Fafes FHIAGRY Ffcd! & USRI BT fa2edvor 3 ¥
&fd Uy ge Tl

A teacher should ask students questions about analyzing

each party's priorities and the types of policies it most
supports in order to understand the role of various issues in
an election.

Ques 196. ANS (D) Solution:

T &P | TP &7 faviy # awf # o aTel d&aral &l Jarid
FA & farw smafer gyt Rigmo-araeh Iuged g1 smaf
YW H 3 BTl el ot Y TeT B SITcht B o epT 3R
ARG

Frequency polygon teaching material is suitable for showing
the changes in rainfall in a particular area over a decade. In
frequency polygon, a picture with many angles is created
whose shape is zig-zag.

Ques 197. ANS (B) Solution:

TSI RTeg 1 312 - WRBR 1 fagH o efwid g1
WHR TP A, BT T ATl BT 31870 B g1 31k
The science of government B! iU B3 arell s
politics gl

The word politics means the science of government, under
which we study the government, its policies, functions and
powers. Hence the word to replace The science of
government is politics.

Ques 198. ANS (B) Solution:

A Lot of work remains to be done.

Ques 199. ANS (A) Solution:

forTee b & safd 3 gd srgva, e, Rigidl & smur
TR SO FHET & e H R prob JHN BT GHIYM Ut
Bl 31 P o ara # et ae Rigid o) ©ieR
HRA qUTIY 3= URFRUFN H vrRgad - ¥ qraIfid gl |
SR T Rigid © b @it ot R €1 €1 ookt 39 Wi
FHRb qb B Gahdl ¢ fob THRT T WO B, ofct: To=T oft Ao
BhT I 39 fafy o fsy fepTe & forg ada 3 &1 SuahT
foar ST 31

In deductive reasoning, a person finds a solution to his
problem by thinking about his problem on the basis of his
previous experiences, beliefs and principles. Deductive logic
is actually related to accepting a general principle and
applying it to other situations. For example, the general
principle is that all living beings are mortal. One can accept
this and reason that Ramesh is a living being, hence Ramesh
will also be mortal. In this method current knowledge is used
to draw conclusions.

Ques 200. ANS (D) Solution:

3R I STeRT & U 4 TR g1l § 3R Ife Ueb o # it 4 TR
g dl et ft TP TR 31 A 39 UBR & db Bl RS
T e o1l ¢ | T 1 forg Ufohan § T a1 3ifies J1d |
FYAT P SMYR R it (A Frsed R uga s g,
RS T Ped o

If all animals have 4 legs and if a table also has 4 legs then
the table is also an animal. So this type of reasoning is called
deductive reasoning. The process of reasoning in which a
definite conclusion is reached on the basis of one or more
known general statements is called deductive reasoning.




